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I NRATALSSH (STHYE/YL - HE)
el AtE BHH 25 EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 325,000
= 175,000
22822 (XHAI) 100,000 100,000
401 A& B 20HY| 100,000 100,000
01 AlEHI 99,100 99,100
OSAtZ Hb|(3km) 99,100,000 99,100
03 Al S2CHYI 900 900 0
Os&tZ2 J| 900,000& 900
SM2SIMEE ZHAIL (X&) 1,200,000 2,000,000 800,000
= 1,032,000
= 168,000
401 A& BIZL20HLI 1,200,000 2,000,000 800,000
& 1,032,000
= 168,000
01 Al&HI 1,167,795 1,952,300 AT784,505
O=MZIMEE =LA
1,167,795,000& 1,167,795
T 1,004,304
[ 163,491
02 2yl 32,205 45,900 A13,69%
O=SMHZMEE LA
32,205,000 32,205
T 27,69%
= 4,509
I z=ns L MHIIXNE 5 X2 7,054 7,04 0
& 2,110
[ 4,944
307 2I2+01™ 7,054 7,054 0
T 2,110
= 4,944
02 QIZHBAAIEER 7,04 7,054 0
OYIIEDE L MPBINE HEXR
7,054,000& 7,054
= 2,110
= 4,944
st SAXNFISS ALY 1,429 2,010 A581
= 1,429
201 L2 AY| 1,429 2,010 A\B81
= 1,429
01 A=R2teld| 1,429 2,010 A\B81
Ounss 29 309,000& 309
= 309
O0IHBEHEZAIRR S =&
40,0003 *28% 1,120
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S AR
Hu: MAUTRAYSSH (STHYSA
2 2

=aak &_“—:! ZAH Hat ST EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 1,000
=S 300
i 700
301 EetE2 NS 2,000 2,000 0
= 1,000
= 300
Ea 700
14 JIEt2a=S 2,000 2,000 0
OZIEE STHAAHEHA) 2,000,000& 2,000
= 1,000
= 300
= 700
S &y 1,993,307 3,480,659 A1,487,352
= 238,148
N 625,000
== 453,261
o 676,898
AFE HOH Off & 135,765 153,700 A17,935
201 223 700 700 0
01 Al 2 2lH| 700 700 0
O=g+y 700
~AHAFERIOHRIS TIB A0S BAlag
700,000 700
308 AXIHSOIA 132,065 150,000 A17,936
07 MRS E = 132,065 150,000 17,935
OAtZAY =2 RE= 132,065,000& 132,065
401 AIEHIZ SR 0HYI 3,000 3,000
01 Al&HI 3,000 3,000
OAMER NEEH HY 2
3,000,000& 3,000
AITHOH L Kbl SHOI(AFARER O XI R E) 61,140 59,882 1,258
= 24,456
[ 11,005
T 25,679
101 @124H| 51,140 49,882 1,258
= 20,456
== 9,205
o 21,479
M ORNZZ2NSE S 51,140 49,882 1,258
OALALEH S Z 0l 2 et
2,557,000 x4 & +5E 51,140
= 20,456
s 9,205
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SA A=
I NRATRLSSH (STHYEA/YL - LHE)
el MEAE XF EER=E)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
01 Al&HI 31,500 18,200 13,300
OLHAIEY 2l LA XIS AE A
31,500,000& 31,500
= 15,750
== 7,875
= 7,875
S AL (XA 75,000 75,000 0
201 Ler=23 | 5,000 5,000
01 At2teltl 5,000 5,000
Oogxz 5,000
-Y=FH ZHIYIH2AD] 8)
500,000 = 1CH* 10 5,000
401 Al HIZL S 0HYI 70,000 70,000
01 Al&HI 70,000 70,000
OEE ZHiDI 70,000,000& *14] 70,000
ST AL (2H) 893,000 1,116,000 223,000
N 625,000
[ 134,000
T 134,000
401 Al HIZL 201 893,000 1,116,000 A223,000
N 625,000
== 134,000
o 134,000
01 Al&HI 866,000 1,090,451 N224,451
OYE A& (3.5km) 866,000,000 866,000
N 606,200
= 129,900
o 129,900
02 2/l 22,000 20,683 1,317
Oz AIE 22,000,000 22,000
N 15,400
= 3,300
o 3,300
03 Al 20HHI 5,000 4,866 134
Oz AIE 5,000,000 5,000
N 3,400
= 800
o 800
LT AIE (HEALY) 248,000 285,800 A37,800
[ 210,800
T 37,200
101 @124H| 24,000 24,000 0
= 20,400
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SA A=
I NRATRLSSH (STHYEA/YL - LHE)
el MEAE XF EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 3,600
04 JIZtNZ22 XS 2+ 24,000 24,000 0
Oogzzel# 24,000,000 24,000
s 20,400
s 3,600
401 Al HIZL 201 224,000 261,800 A37,800
& 190,400
= 33,600
01 Al&H| 224,000 261,800 A37,800
O = (1.0km) 135,000,000 135,000
= 114,750
[Ea 20,250
O Z=INZH(1.0km) 67,000,000& 67,000
s 56,950
s 10,050
O & ==(5.0km) 22,000,000 22,000
S 18,700
= 3,300
SMEFEXSEEAH( A =ALKIR) (B 2)) 12,000 7,200 4,800
204 AR A 12,000 7,200 4,800
02 E3g=23H| 12,000 7,200 4,800
OSEMBZE 2AF HSU
200,000 x5 122 12,000
et &4 225,000 299,800 AT4,800
= 112,500
= 33,750
o 78,750
402 2I2F X201 & 225,000 299,800 AT4,800
= 112,500
= 33,750
[Ea 78,750
03 2IZ+RAETAIS I 225,000 299,800 AT74,800
OWat==Z i (15ha) 225,000,000 225,000
= 112,500
= 33,750
= 78,750
dHE =4 123,120 246,240 A123,120
= 58,320
= 19,440
= 45,360
402 QI>F X201 & 123,120 246,240 123,120
= 58,320
[ 19,440
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SA A=
I NRATRLSSH (STHYEA/YL - LHE)
Gl METE 4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 45,360
03 2IZ+AEAIZHI 123,120 246,240 A123,120
OZ M (30ha) 123,120,000 123,120
= 58,320
= 19,440
o 45,360
ZUF =9 28 141,582 185,837 A44,285
= 27,122
= 34,338
= 80,122
402 QI2FX+=01 & 141,582 185,837 N44,255
= 27,122
< 34,338
s 80,122
03 2IZHRIETAIHHI 141,582 185,837 AN44,285
O2uUR3%(4na) 45,800,000 45,800
= 21,700
< 7,230
[Ea 16,870
O4r2d THoH & XI(15ha) 95,782,000 95,782
= 5,422
== 27,108
[Ea 63,252
AXR2E EH & |X2 25,000 25,000 0
401 Al HIZL 2018 25,000 25,000
01 Al&H| 25,000 25,000
OMXIPEE Bl & S22
25,000,000& 25,000
gy sAs2 A= 4,525,738 6,019,805 A 1,494,067
=S 325,000
s 4,200,738
et =5 o At (KHAN) 2,238,591 1,820,019 418,572
101 e124d| 443,197 432,679 10,518
M ORNZZ2NSE S 443,197 432,679 10,518
OZEFEINFI| ZEAEX At=2e 443,197
-=XIEHIE(EHE) 35,103
JlZ2= 95,0003 * 1 +25L 112 26,125
AEsdIRed
142,5002 x 12 +63! 8,978
-=XIEHIE(EH) 332,550
JlZ2= 90,0002 x10E x25L « 11 247,500
mEsdIRsY
135,000 *10H *63 85,050
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SA A=
HE: NYNALSSH (SHHYSA/YL - ME)
el RldY sAs2 75 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
=X EH YR RE
1,650 *1CH*10L* 1202 1,980
®IIHY BWE
150,000& » 120K 2 +2CH 3,600
-Xtgta=clt| 3,000,000 3,000
202 04l 4,800 3,600 1,200
01 2LHoIH 4,800 3,600 1,200
O=NEZANE L2z
100,000 x4 * 12 4,800
203 HR=4AY] 1,000 1,000
03 A=A PR F&| 1,000 1,000
OZFEFEIHFIIMNG =8
100,00021* 103! 1,000
206 TH=H 113,250 111,000 2,250
01 =l 113,250 111,000 2,250
OREFWIIP)| ZBNLS(SH) YRR
140,000& +50S 7,000
OASY P22 LIF0IF)] #AIE B2
24 2) 0,0002!+4,0001% 40,000
O24 L FAAY 26,250
ZE4AS U B AN
15,0003 *250 7132l 11,250
42 9 %3 EUI(MEE)
10,0002 %1,000% 10,000
2 S0l YHSSE
10,0002 *500H 5,000
OARY #AE T4 7Y
10,0002 %4,0001%F 40,000
307 elztol & 16,500 15,650 850
06 2aia 16,500 15,650 850
ODRIZY X2 ASR2| TP E (172
) 900,000 %17 15,300
OsI1H 28 600,000 x2CH 1,200
401 AIEHIZ R 0HYI 1,551,974 1,074,505 477,469
01 Al&HI 1,545,296 1,068,520 476,776
OZEFIXILALE X X2l (8HXI) 650,000
-HHRIZ(HE - 1) 68,000,000 68,000
“HI2XI (g Xl - Z0}) 85,000,000 85,000
-RIBXI (4t - THE) 88,000,000& 88,000
-M4XI (01 - 201 - CHXI)
85,000,000 85,000
“MISRIF (A - St - £H)
88,000,000& 88,000
-HeXI (2= - £31) 60,000,000 60,000
-M7X (2255 4) 88,000,000 88,000
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SH: AR=TI
A AT LSSE(sBlLL/YY - AHE)
ol Jedy sA82 A5 (SH9 H2)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
-HiBXH(HER23tz+2)
88,000,002 88,000
OJl24 2ET2 BAZA
50,000,000& 50,000
Odt2= MFEZIHE SAHEES 2/ 34
S8) 50,000,000 50,000
OJtz+ HEAHY 100,000,000 100,000
OIHZ22 OIABAHEZRMN S AR)
50,000,000& 50,000
OMEEl =XHI Y =BALE 24
50,000,000& 50,000
OgY X=X =8 MMZ A\IEE E=
30,000,000& 30,000
Otz S(L)LS HHHADIAIY
100,000,000 100,000
Ogdt == a2 ZEAMY
100,000,000& 100,000
O&AIZ I 65,296,000 65,296
O 20| A8z T4
300,000,000 300,000
03 Al =2 THHI 6,678 5,985 693
Ot == Sall2xd 6.,678,000& 6,678
405 XHAHE SHI 10,400 85,600 AT75,200
01 TR ESFH SHI 10,400 85,600 AT75,200
OJIAHE =¥ 500,000 *8CH 4,000
O1XECH 7 800, 000 *4CH 3,200
OAEECIH 7Y 500,000 «2CH 1,000
Oy E=x= VS| 2,200,000 *1CH 2,200
== B 226,000 226,000 0
401 AIEHIZL SO 226,000 226,000
01 A<l 226,000 226,000
O0l28H ZE(2FYUE L)
30,000,000& 30,000
Oontsgd 2= 196,000, 000& 196,000
£ - 234 =4 662,812 659,165 3,647
101 e124d| 293,812 290, 165 3,647
04 JIRHNZ2Z2XSE+ 293,812 290, 165 3,647
O&2d, 284 Az2e(2)
78,880 x20H ~0 141,984
OZZ, ZS4 AIFZ2(SH)
10,000,000 * 14K 140,000
Ok=1=1= 141,984,000 *8.33% 11,828
206 =4I 109,000 109,000
01 XH=4l 109,000 109,000
OZZLXHE ZMNFL(RARAL 55)
9,000&+1,000kg 9,000
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SA A=
I NRATRLSSH (STHYEA/YL - LHE)
el RldY sAs2 75 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OJl=2HA &4 47,000
SRS 7Y 30,000
-23E Hl€ ¥ 7,000
-Hig & M 2L 10,000
401 Al HIZL 201 230,000 230,000
01 Al&HI 230,000 230,000
OFMHA =4 200,000
-EHCIFA (8B, EH=DI) 80,000
“MHEH SO XM 70,000
-XTEE SH(ZEE) 30,000
—2=AIE HIISA 20,000
(OP)i=+ 3= INEES 30,000
“HEE 2 FRAHAE SHIAY 30,000
SNz ZEA(HEALY) 500,000 200,000 300,000
== 325,000
o 175,000
401 AIEHIZ SR 0HYI 500,000 200,000 300,000
[ 325,000
T 175,000
01 Al&H| 492,440 200,000 292,440
O=M4¥8Ils SgAE 100,000,000& 100,000
= 65,000
= 35,000
Otz ZEAE 392,440,000 392,440
S 260,000
o 132,440
02 2/l 7,560 0 7,560
OZANz=OIRS §) ZEAHY
7,560,000 7,560
SENL(ZELXANL/XALCAI) 9,404,582 4,839,628 4,564,954
= 228,308
CH 600,000
< 2,806,1%
[Ea 5,770,078
SEEH| 9,404,582 4,839,628 4,564,954
= 228,308
CH 600,000
= 2,806,1%6
= 5,770,078
sttt 233 2el 1,515,077 974,779 540,298
CH 250,000
Ea 1,265,077
101 212A4H| 117,290 69,709 47,581
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FA A=
B DN REUX WL/ X AL A
o9l S EER-E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 Al&HI 1,020,000 470,000 550,000
Ostadt Stte A
200,000,000& 200,000
OXiot= &gz HBIAY
350,000,000 350,000
Ostardt A= H2h20] 3t2 ZX
20,000,000 20,000
OXiot= gd 450,000,000& 450,000
CH 250,000
[Ea 200,000
03 AIESTHYI 4,104 1,584 2,520
OAl4 S THHI 570,000,000& +0.72% 4,104
403 REXIEHHIS A 339,000 375,000 /36,000
02 SI12S0lICH 24| 339,000 375,000 236,000
Ostardt =g Hl X2
339,000,000 339,000
CAISE 2l 1,546,507 809,797 736,710
101 @124H| 455,940 416,758 39,182
04 JIZtHIZ 2 &t 455,940 416,758 39,182
OFASH2 174,79
== 78,8802 x8H 247 185,867
-Fasgd
118,320& x8 & x20 18,932
Osdc& 246,314
-Jles 88,2002 x 102 *247 217,854
-FaR2d
132,300 x10F x20 26,460
-l =H| 200,000 *10H 2,000
OL= Y= 418,087,000 +8.33% 34,827
201 er2 3| 113,265 108,689 4,576
01 AtR2t2|HI 30,500 29,900 600
Odgt+=H| 7,500
-ZepRg B ¥ o
5,000,000& 5,000
-SE 2L 300,000& %52 1,500
-0i2l0l =0IE A= EJ1ZAtYI
200,000 %53 1,000
Ogxz 23,000
“TASE 2=XtE 500,000 %10 5,000
-SH2| MY
900, 000& «2CH*10& 18,000
2 s5=34l 82,765 78,789 3,976
O33g2=s 58,765
“TAISE &I, =k 25
18,768,000& 18,768
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S AR=XID
3 SYUNL(FEXLNSNL/RNALTAI)
el SEELI EER=E)
2 - IE!
SN - B - SRASH) - MRA - BAES ol &t e HIDSZ
-{2l0] SO0lAIE HHAMYEE Dl
369,500 7K A 2,517
—==0AE SEHAHEEE Jrtl
3,500,000 *2JH 2= 7,000
—==0/AlE ot 2=
1,270 +200m" x50 2 204 A 30,480
OAlI2EHIF I 8,582
“TASE ARR AEE B
5,000,000& 5,000
—==0lAE2 FAZL
1,000,000 *20H A 2,000
-HFI == 1,582 %1002/ E1= 103 1,582
OXtgrdet] 15,418
-SE 2eHY g 7RI
1,500 »2002| EA x 102 3,018
-SEHY M)A SHR=
200,000 = 1CH* 122 2,400
LB SHEA HABY
10,000,000 10,000
202 048l 1,500 1,500
01 =LHOHI 1,500 1,500
S2A =U0H 1,500,000 1,500
206 M=l 6,050 6,050
01 MHZH| 6,050 6,050
OSAB +28 557
12,0003 +250% 3,000
OZAZR NEB2IE YRR
122,000&+258 3,050
401 Al HIZ S OHbI 964,752 271,800 692,952
01 A28l 960,000 270,000 690,000
OAIZH| 660,000
“EASE FAES(12902)
250,000,000 250,000
=283 2SS A SA
100,000,000 *30H 2 300,000
-Ss0IAE 23 (2H2)
55,000,000 *2JH 2 110,000
O=3t8d, BEXAl HEH)| AMZ £
4 300,000,000 300,000
03 Al 2 CHHI 4,752 1,800 2,952
OAI4 2THYI 660,000,000& *0.72% 4,752
405 KHoHFSHI 5,000 5,000
01 ML ESFSHI 5,000 5,000
CAISY 22 JAZL(0FO!, JIHS
s) 5,000,000 5,000
sEEFE 2l 10,000 10,000 0
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FA A=
B DN REUX WL/ X AL A
&t S E (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 10,000 10,000
01 A&t 0,000 10,000
otgsm |x
5,000,000 +27H 2= 10,000
NAM HAS S FXl2c 740,000 380,000 360,000
401 Al HIZ S OHbI 300,000 0 300,000
01 AlZ2H| 300,000 0 300,000
Osigst TSRl EXE T4
300,000,000& 300,000
403 X SHMSAH=01H 440,000 380,000 60,000
02 SIS0t =S A AEHI 440,000 380,000 60,000
O seegna
440,000,000& 440,000
=ol& MESAHEY A 28 NE 29,470 28,666 804
= 14,735
S 10,314
= 4,421
307 elzto| & 29,470 28,666 804
= 14,735
[ 10,314
Ea 4,421
05 2IZtAE = 29,470 28,666 804
O= o€l 2SX 29,470,000 29,470
= 14,735
== 10,314
o 4,421
A MENS R 284,058 217,720 66,338
= 198,838
s 25,568
s 59,652
401 AIEHIZ SR HYI 284,058 217,720 66,338
= 198,838
= 25,568
o 59,652
01 AlZ8| 284,058 217,720 66,338
Oztadt AM=SE A 284,058
-MEHUESE BEdE0t
23,000,000 23,000
= 16,100
=S 2,070
s 4,830
~MHMEISH 26,000,000 26,000
= 18,200
=S 2,340
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5,460
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145,224
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1,995
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MW

307 212+01™ 29,470 28,666 804
14,735
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Mo W

05 elzte(& = 29,470 28,666 804

29,470,000& 29,470
14,735
10,314
4,421

Mo W

KIXEH TtAS 2 SALS (M EALY) 200,000 300,000 100,000
130,000
70,000

EUNGE

401 AIEHIZL R OHYI 200,000 300,000 100,000
130,000
70,000

M

01 A&l 200,000 300,000 100,000

Ozttt ISy 22rA

200,000,000 200,000
130,000
70,000

A H

0
0l
)
=
=)
.
o
ow
=
i
>
I

950,000 500,000 450,000
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FA A=
B DN REUX WL/ X AL A
&t S E (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 600,000
01 AlZ2H| 950,000 500,000 450,000
O ASd cl22E 150,000,000 150,000
CH 100,000
s 50,000
Ogetsd dYZ i 800,000,000 800,000
CH 250,000
= 550,000
HEE SN Sdl2 ZEAL(HEAIY) 2,000,000 0 2,000,000
= 1,300,000
[Ea 700,000
401 Al HIZ S OHHI 2,000,000 0 2,000,000
=S 1,300,000
s 700,000
01 AlZ8| 2,000,000 0 2,000,000
OFEE sd X=X =dZ gAY
2,000,000,000& 2,000,000
< 1,300,000
s 700,000
Go X ADEZBY ZHAIY (HEALY) 2,000,000 0 2,000,000
= 1,300,000
Ea 700,000
401 AIEHIX 20HH 2,000,000 0 2,000,000
=S 1,300,000
s 700,000
01 AlZ8| 2,000,000 0 2,000,000
Ogat Al ADESE TEAH
2,000,000,000& 2,000,000
< 1,300,000
= 700,000
SHMEE O2I0I=0IAIE N ALY 100,000 0 100,000
= 30,000
Ea 70,000
401 AIEHIX R0 100,000 0 100,000
= 30,000
o 70,000
01 A28l 100,000 0 100,000
Odetoielols3 KEl0l=0lAI4 I
100,000,000 100,000
[ 30,000
T 70,000
M 2AHH(AZ =X (IIEH/DIE 41,608 30,684 1,924
Jl=2dsl 41,608 39,684 1,924
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